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1. The	value	of	2.09	✕	6.4	is
(i) 13.376 (ii) 13.576 (iii) 13.276 (iv) 13.176 (v) 13.476

2. The	value	of	4.9	✕	4.010	is
(i) 19.849000 (ii) 19.449000 (iii) 19.649000 (iv) 19.749000 (v) 19.549000

3. The	value	of	6.95	✕	4.65	is
(i) 32.51750 (ii) 32.41750 (iii) 32.21750 (iv) 32.11750 (v) 32.31750

4. The	value	of	10.8	✕	10.4	is
(i) 112.2200 (ii) 112.1200 (iii) 112.4200 (iv) 112.5200 (v) 112.3200

5. The	value	of	2.3	÷	6.02	is
(i) 0.58 (ii) 0.28 (iii) 0.48 (iv) 0.18 (v) 0.38

6. The	value	of	5.88	÷	3.2	is
(i) 2.04 (ii) 1.74 (iii) 1.84 (iv) 1.94 (v) 1.64

7. The	value	of	100.2	÷	55.07	is
(i) 2.02 (ii) 1.82 (iii) 1.92 (iv) 1.72 (v) 1.62

8. The	value	of	65.2	÷	80.35	is
(i) 0.61 (ii) 0.91 (iii) 0.81 (iv) 1.01 (v) 0.71

9. 57.7	✕	______	=	-300.0
(i) -6.2 (ii) -5.2 (iii) -3.2 (iv) -4.2 (v) -7.2

10. 48.19	✕	______	=	4117.35
(i) 87.44 (ii) 85.44 (iii) 84.44 (iv) 83.44 (v) 86.44

11. 98.097	✕	______	=	2204.534
(i) 20.473 (ii) 23.473 (iii) 24.473 (iv) 21.473 (v) 22.473

12. 89.6277	✕	______	=	5294.3351
(i) 58.0703 (ii) 57.0703 (iii) 60.0703 (iv) 59.0703 (v) 61.0703

13. 779.5	÷	______	=	23.2
(i) 33.6 (ii) 34.6 (iii) 35.6 (iv) 31.6 (v) 32.6

14. 2581.06	÷	______	=	33.36
(i) 75.37 (ii) 79.37 (iii) 78.37 (iv) 76.37 (v) 77.37



15. 777.263	÷	______	=	12.224
(i) 63.585 (ii) 65.585 (iii) 62.585 (iv) 61.585 (v) 64.585

16. 749.7431	÷	______	=	35.5214
(i) 19.1068 (ii) 22.1068 (iii) 20.1068 (iv) 23.1068 (v) 21.1068

17. 1.04	✕	7	=	______
(i) 6.28 (ii) 8.28 (iii) 7.28 (iv) 5.28 (v) 9.28

18. 8.04	÷	9	=	______
(i) 1.8933 (ii) 2.8933 (iii) 0.8933 (iv) 7.8933 (v) 8.8933

19. 4	✕	4.05	=	______
(i) 14.2 (ii) 18.2 (iii) 17.2 (iv) 16.2 (v) 15.2

20. 8	÷	4.09	=	______
(i) 9.956 (ii) 2.956 (iii) 0.956 (iv) 1.956 (v) 3.956

21. The	value	of	9.06	✕	2.8	is
(i) 25.368 (ii) 25.468 (iii) 25.268 (iv) 25.168 (v) 25.568

22. The	value	of	5.008	✕	5.010	is
(i) 24.890080 (ii) 25.190080 (iii) 24.990080 (iv) 25.290080 (v) 25.090080

23. The	value	of	10.56	✕	3.87	is
(i) 40.66720 (ii) 40.96720 (iii) 41.06720 (iv) 40.86720 (v) 40.76720

24. The	value	of	3.9	✕	3.1	is
(i) 12.0900 (ii) 12.2900 (iii) 11.8900 (iv) 12.1900 (v) 11.9900

25. The	value	of	9.07	÷	6.06	is
(i) 1.40 (ii) 1.60 (iii) 1.50 (iv) 1.70 (v) 1.30

26. The	value	of	5.8	÷	8.7	is
(i) 0.67 (ii) 0.57 (iii) 0.87 (iv) 0.47 (v) 0.77

27. The	value	of	82.02	÷	64.2	is
(i) 1.28 (ii) 1.48 (iii) 1.38 (iv) 1.18 (v) 1.08

28. The	value	of	51.14	÷	63.62	is
(i) 0.80 (ii) 0.70 (iii) 0.60 (iv) 1.00 (v) 0.90

29. 14.3	✕	______	=	17.2
(i) -0.8 (ii) 2.2 (iii) 3.2 (iv) 0.2 (v) 1.2

30. 13.28	✕	______	=	1006.49
(i) 73.79 (ii) 75.79 (iii) 76.79 (iv) 74.79 (v) 77.79



31. 11.786	✕	______	=	870.031
(i) 74.819 (ii) 73.819 (iii) 75.819 (iv) 71.819 (v) 72.819

32. 87.2226	✕	______	=	1395.1517
(i) 15.9953 (ii) 14.9953 (iii) 16.9953 (iv) 13.9953 (v) 17.9953

33. 575.2	÷	______	=	69.3
(i) 7.3 (ii) 10.3 (iii) 8.3 (iv) 6.3 (v) 9.3

34. 2863.61	÷	______	=	94.79
(i) 28.21 (ii) 29.21 (iii) 31.21 (iv) 30.21 (v) 32.21

35. 506.426	÷	______	=	7.047
(i) 69.864 (ii) 70.864 (iii) 72.864 (iv) 73.864 (v) 71.864

36. -61.5542	÷	______	=	-4.5030
(i) 14.6696 (ii) 13.6696 (iii) 12.6696 (iv) 15.6696 (v) 11.6696

37. 8.06	✕	1	=	______
(i) 8.06 (ii) 7.06 (iii) 9.06 (iv) 6.06 (v) 10.06

38. 8.06	÷	9	=	______
(i) 7.8956 (ii) 2.8956 (iii) 0.8956 (iv) 8.8956 (v) 1.8956

39. 9	✕	5.08	=	______
(i) 44.72 (ii) 45.72 (iii) 47.72 (iv) 43.72 (v) 46.72

40. 2	÷	9.05	=	______
(i) 1.221 (ii) 0.221 (iii) 7.221 (iv) 8.221 (v) 2.221

41. Multiply	3.02	with	10
(i) 30.2 (ii) 3.02 (iii) 3020 (iv) 302 (v) 0.302

42. Multiply	5.05	with	100
(i) 50.5 (ii) 5.05 (iii) 5050 (iv) 50500 (v) 505

43. Multiply	5.05	with	1000
(i) 5050 (ii) 505000 (iii) 505 (iv) 50.5 (v) 50500

44. Multiply	7.01	with	10000
(i) 701000 (ii) 701 (iii) 7010000 (iv) 7010 (v) 70100

45. Divide	4.10	with	10
(i) 41 (ii) 0.041 (iii) 4.1 (iv) 0.0041 (v) 0.41

46. Divide	2.03	with	100
(i) 0.000203 (ii) 0.00203 (iii) 0.0203 (iv) 2.03 (v) 0.203



47. Divide	21.80	with	1000
(i) 2.18 (ii) 0.000218 (iii) 0.218 (iv) 0.0218 (v) 0.00218

48. Divide	9977.38	with	10000
(i) 0.00997738 (ii) 9.97738 (iii) 0.997738 (iv) 99.7738 (v) 0.0997738
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